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> ¥li> oF b= 58 13)
If f(x)= Sin2xcost,thenf(§) oVl oV = () 2200 13)

equals .....




©)

Ify=2t3+7,z=t>—4 O 13|
, then the rate of change in y with respect to £-0=E « V4OV =2

zequals ...... E Slamdl o s Jane 08




If xy = sin x cos x,
prove that :
dy

d?y
x—S+2—+4xy=0

dx

ol e = 2 e O 13
o et

PO LS . Ay
o S o S




@ A 4-meter ladder is leaning against a S ad bl S, el ¢ b e
vertical wall by its top and on a horizontal | o)l Jle > &y ) Wil
ground by its base. If the base of the ladder | M .l Gl 3 J,\ 156 (]
slides away from the wall at a rate of & "2 Jines Lslodl 55 Tast
20 cm/sec, find the rate of sliding of the top Gl G ) Lgen Jums o
of the ladder when the ladder is inclined to e W VLJ\ 555 Leais V'L“ﬂ

the ground with an angle of measure g : ( % ) el & 5150 2N
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chi_r)r(l)(l +x)sx equals ....... | . gsls T (et )
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@ If y =5 x6%,

dy
then T equals .......

® 0 @6

5 X 6%
5 X 6*Iln6
5 X 6*log: 6

5 X 6%logg 5

Tx o= e 08 13




@

[tanx dx equals .........

® © 06

In|secx|+c
In|cosx|+c

—In|secx|+c¢




If the slope of the tangent to the curve of
the function f at any point onit(x,y ) is
inversely proportion with x and the slope of
the tangent equals 2 at x =4 and Y = 2.
Find y in term of x .
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@ The curve of the function f: S > A poie

f(x) = x3 — 6x2 is convex downwards in - e=()
theinterval ........... | . 5l b Jay Lo 0 55

@ 102 ® 1,3 Foa-l @ Jrveef @
© 1-»2[ @ 2.[ Joox[ O Jree-[ &
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If f(2) is an absolute minimum value for Jallas g e dad (V) 5 <58 13
the function f: f(x) = x? — kx + 5on the 0+ o S o= (w)s DY
interval [-1,5] thenk=...... | ... =3 0b o] Bl Je

@ 4 b -4 @ ¢ (D
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The function

ff()

® 0 @06

= x|x|is.....
Increasing on R

Increasing on 0,00 [ and decreasing
on ]'0090[

decreasing on R

Increasing on ]-00,0[ and decreasing

on ]0, oo




@ Answer one of the following items
(a) Determine the intervals of convexity
upwards and downwards for the
function f ,then determine the inflection
points (if exists) such that :
f(x)= 6x3- x*
(b) Find the absolute maximum value of the

function f such that:
f(x) = xe™*,x € [0,2]
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f(4—cscxcotx)dx = ... | - o S (et o) |

@ 4x —cscx+c St - e @

@ 4x +cscx+c Gt B+ ot @

@ 4x —cotx +c St - g @

@ 4x + cotx + ¢ &t b+ ot @
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A playground is in the form of a rectangle AR (A et IS5 e s

ending with semi-circles, if the perimeter of ) Jaons 51315 5515
the playground is 420 m, find the maximum

area of the playground. c) s STl e g







If [ f)dx=4, §= 8 <w>>1°vot< H|

then [((3f(x) = Ddx = - | “ D= (ar] | o

Y
@ 9 ® 1 AR O
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@ Find the area of the region bounded by the | iy 8) srame)l daaid)) d> s ax sl
two curves: y = x2,y = 3x . V=2 moe e




@ Find the volume of the solid generated by | o {4W! V‘“‘?‘M —= s

revolving the region bounded by the two w5 WAl Oy

curves

1 : v Y o e
y=x,y= §X2 a complete revolution SN S el
about the x-axis . eS8y 95 el g J 9




Answer one of the following items i) (R PV (RPN BV SWPY|
(a Find: [xVx + 3dx S o Lt (1)
(b)  Find [ 6x e?* dx 5 T T el ()
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